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Instructions for Candidates

1. . Write your Roll No. on the top immediately on receipt
of this question paper.

2. All questions are compulsory.

3. Answers should be brief and all parts of a question
be answered together.

4. Answers may be written in English or Hindi but the
same medium should be followed throughout the

paper.
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Fill in the Blanks with the options given in brackets:

(7)

I.ROMisa_________ memory (Non-volatile/
Volatile)
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What is meant by cyber security? List out a few of
the solution that provide protect computing resources

from cyber threats.
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OR

What do you mean by database systems? What are
the advantage and disadvantage of database

system? (6)
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3. Compare client-server computing architecture with

peer-to-peer computing architecture. (6)

ﬁm~§-ﬁmmﬁtwﬁﬁwa&mm&waﬁqﬁﬁ
FfFR A g How :

OR

Discuss in brief different types of cloud services with

examples of service providers? (6)
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II.
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IV.
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The data transfer rate between two computers
is very high in case of a —_____ (LAN/
WAN)

Star topology is also known as topology (Hub-
and Spoke/ Linear)

In i, (B2C/B2B) model of . e-
commerce both buyers and sellers are

business units

. Word Wide Web commonly known as

(web/ HTML)."

A_____ keyalways uniquely identifies

a record (Foreign/ Primary/ Super)

The error correction is easier in
(Traditional File System/ Database
Management System).
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2. Briefly explain different types of computing

interfaceswith examples. (6)
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OR

Write short notes on: (6)
(a) Firewall

(b) Modem
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